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void parallel_inserts(HashTable* H, int n) { 

  parallel_for k in 1:n  
    hash_insert(H, rand()); 

} 
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void hash_insert(HashTable* H, int key) { 

  ... 

  if (!acquired_read_lock(L)) { 

     help_region(L); 

  } 

  ... 

  if (overflow(H)) 

   start_region(resize_table)(L); 
   sync;  

} 

resize_table 
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void hash_insert(HashTable* H, int key) { 

  acquire(H->resize_lock, READER); 

  int b = hashcode(key); 

  locked_bucket_insert(H->buckets[b], key); 

  release(H->resize_lock); 

  if (overflow(H)) 

     resize_table(H); 
} 

void resize_table(HashTable* H) { 

  acquire(H->resize_lock, WRITER); 

  Buckets* newB = create_buckets(2*H->size); 

  parallel_for b in H->buckets: 
    rehash_bucket(H->buckets[b]); 

  H->buckets = newB;  H->size = 2*H->size; 

  release(H->resize_lock); 

} 
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